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Perhaps he appeased — 00 Naw

OVERVIEW

5" maintains (according to w"9) that if the v was signed ten days after it was
written it is a 7109 VX because we are concerned 0™ Xnw. There is a dispute
between *"1 and MdOIN as to what is the concern of 05 RAW.

— Y V) MDY NNY TN2IN) NIV IV‘)\D”PQ V99
>'"w9 explained that 05 X»w means, perhaps he isolated himself with her, and
So it is a Jw° w3, which is (79°1N37) M08 —

mooIn disagrees with >"w7:
—PYYIN PR YW VI 2‘1):2%‘;7 (3,99 97 1p%) RONRY 3 P99 9102 XNT DN 139299 NI PN)

And the n''1 disagrees, for in the end of ¥nIRW % Pap, the Xn»72 states, and we

are not concerned for a 2" v -
— 91393 Y99 YN 39)9\’))3 U9 NIV VN Ny 12999 NNIY 1NN NY Y

Because he was not 7r7°°n» with her (this concludes the &n>91), and the Xan)
asks, ‘but let us be concerned o2 X»w’; this (question) indicates that 72> v and
09 XYW are two separate concerns.

mMooIn mentions an additional difficulty with >"w7%s:
— NYDIN INPT 0NN YW V) DIV DD NNPY 799139 19T NNDT TV

And furthermore why is it necessary for the X723 to ask there 0392 X»w, which is
2109 on account of 3w v3, since we are referencing that case where he said -

— w2 7Y INDR NNR2 XD 2Ny a1 awhw 715 TAIR MAVRW T - WA 7T AT
‘This is your v3 as long as I do not appear in your presence for thirty days’, or
where he said, ‘here is your vi if I do not come back from now up to twelve

months’; to invalidate this v it is not necessary to say 7 v and T -
— 030 502 TN DIV XY2 N2 ONYT 19

' xow 72,

? The X3 there states that if a man says, ‘here is your va if I will not be in your presence for thirty days’, and he

went back and forth to her, since he was not 71°n» with her it is a valid v (when eventually he will be away from

her for thirty days) and 7y 7°°01 R? 0 PRI PR 70 I

® The X012 concluded ny N1 XY AW PRI PR W0 03?1, the Ry immediately asks 09 &nw w9, If 00 means

(as *"w" maintains) that 7ny 71701, the X713 should have asked (Pwwn PX) v'"n; why mention 0 Rnpw?!

* See w"w1 who maintains that this question is only on the case of w1 2" 791 X1 >NX2 XY OX), where if he comes

before the w7 2™ the v is automatically 7v3. However regarding o1 ™2 7715 7311 M2yRW a1 23 there is no time frame

when the 01 '7 are, so even if he came back and forth many times, nevertheless if later there was a period where he
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For since even if he came without any 717 the 3 is %2, since he stipulated, I will
not be here for (either thirty days or) twelve months.

Mmoo offers his explanation of 075 Xnw:
— (3,03 91 y0pY) "IN 93 P99 Y9 XONT U9 NIVT O 13229 99IN)

And the n''1 states that ©»2 8»w which is mentioned here and in the beginning

of w7 52 pap -
— *NY1 502 SNMY V) NN HV2) VD RNAY 1Y N8

It means that perhaps he appeased her and nullified the v3, by saying, ‘the v

which I gave is nullified’ -
— ANYNY IN ©3° NIUY 1Y NI DINNY DAY 9INYI NI 595919

And here (by "2 ann o2 2n21) we are discussing that he told the o°7v, either to

sign from now up to ten days from now, or he told them to sign immediately -
— OV Jyan NN XY NNHNN NYWI D0 NIYY 1Y NN XY oM

And the witnesses did not sign until ten days, and when they signed the

husband was not present -
— 1NN INYTN XYY DMNOIY H0r2) D9 NNRY 19PU»N 290D

So therefore we are concerned that o X»2 and he nullified their nmw to

sign, so they signed without his consent -
— 07 V)N YV IPANT Y DINNY BAY MY DI’ NIYY INN DN YaN

However if he told them to sign even after the ten days elapsed the vi is w2,

for even if he was %uv2n the w3 previously, nevertheless -
— 12 VM) INT (3,35 91 mpY) NTIVN WA 9NT 1903 299 1D NP NN

We rule like 1" who states in the beginning of 7% 7o that the husband may
g0 back and divorce with the v: which he was previously 0.

mooin differentiates between the 0°°5 Xnw here (and in the beginning of V7 95) with the 05 Xaw
of IR "n:
— 912572 031 X YV DD NNV Y AT 1IN NN KY ONT NININ 1791)

However, regarding that case where he said, ‘it is a v if I do not come (for
twelve months)’, there the X3 did not mean to say o2 X»® and he was »uan

was not there for a1° "2 it is a valid v3. See (7">w 0"7n and) 120 NIX V"2,
> The case there is where he gave a 3 to a 15w and told him not to give it to her until after thirty days.
® This means that he said it in the presence of his wife or of the m°%w, or sent a M7 to his wife or to the Va1 MHY to
be Hvan the va in their presence. However he cannot be 7wk m>owi *192 Xow 2uan.See later X,25.
7 Similarly here too even though the »1» of the o>y expired after the ten days, but the 3 is still valid (when the
husband commissions them again to sign the v3).
¥ See previous footnote # 6.
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the w3, by saying the v3 is 703 -

— 775 9NN 19127 23 YY N PWAYN D) 31 NI NI SN XY OX 1PUIYN ININT 11997
For since he said, ‘the v3 will be effective retroactively as of now, if I do not
come’, and he did not come; it will be a v retroactively from now, even though

he was buvan it later -
— 931 503 75 TN MNP XY DN NIN

But rather the X7 meant to say he was ©%°2n1 and therefore he came, and on

account of his coming the v became %3 automatically -
— N2 1D 9NN DIINMY 21 HYY DIYN NIN 01991 99511 NI

And the X773 mentions the 915, only in order to explain to us that because of

the o210 he retracted and came; the 01°5 has no halachic relevance -
— 1) NN YNNA NIV 9NRN NN ON NN IRV YNNI NIV 91997 '5Y NINNI 991N IV

And the X ) there answered the reason we are not concerned (for 0 X»w and)
that he returned, is because we are discussing a case where he said, ‘she is trusted
by me to say, ‘I did not come’’, meaning that even if I did come, if she would
say that I did not come, it would still be a vs."!

mooIn poses another question on *"'w7%:
— YN YNNI NIV 91297 55 NN TINT 2) DY GNRT 23U INNT NYP DI0IPN VIV

And on >"w9%e there is a difficulty, for what does the X7 answer that he said
"5v ninwi, nevertheless even though he said “%» niaN: that he did not come near
her, nonetheless -

— 21159 13931571 N9) 19WN PN
We (the 7'"2) are concerned that he did come (and was 71>°n» with her), for we do
not believe her.

mooin asks a question on N1 "9 as well:
— 0’9 7939 1) MAYNRY 1T DT NINNN NYP DN 13929 VIV DY 0) 11919

? On 73"ywn 19°1 1" he said w77 2" 739 1RON °NR2 XY DX PwWOvA Tqux 19971, and on 7"YWwn 7R 1" he was Svan the va
(m5wi °103, or sent a Pv3%? YW to her or to the VAT °9W), however he did not appear to her until after Y'vwn Po%1 0",
the va is valid since it is ¥791% 51 on 73"vywn j0°1 1", before he was Hvan it in 7"ywn 7K.
10 He violated the *Xn of W 2" Y1 1XOM *NXA X? DX.
" He gave her the right (and trust) to override his *xin and validate the 3, even if he came back.
12 According to the n" who explains the 0 Xnw by the case of w71 2" 71 1897 means that by his coming the v3 is
5v32 because of the *Xin that he made, it is understood why *7¥ n1R1 X2 the v3 is W>, because he gave her the right
to be Pvan the *Xin. However, according to *"wA that there is a wwn of 7w> Jux which we the 7"»2 are concerned about
(71125 o7Ip v MR ®9W), what does it help that he said *%v niaxy, if we are concerned that it may be a w° va! See
R"wAnn.
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However, there is also a difficulty on the n''% w19°2 regarding that case, where
the husband said here is your vx as long as I will be not in your presence for
thirty days -

— N NV 9119 %5y NN 991N 2IVUNY
Where the X713 also answers that we are discussing a case where he said, ‘she is

believed onto me to say that I did not come’; this is not a sufficient answer, for -
— 1PUAPN AN XYT 11997 VIN NN YOI XNPY YIN 0PN Yan

Nonetheless we should be concerned that perhaps he was »uan the w3, since in

this case he did not say ywoy» -
— 103 NN XYYV 5 TINA ON) 0 7Y 7939 13 MNAYIY 1Y N VIN PN)

So the w3 is not effective until he was not in her presence for thirty days, and if

he was buan the v before the thirty days, there is no 3, so why are we not concerned
0”0 XAw?!

N1B0IN answers:
— Py NPWY 15UN KT PNYY 135295 AN

And it is the view of the >''9 that we are not concerned for ©%5 X»w, that perhaps
he was actually 7v2an the va -
— VXN NN HVAY 1YY Hyan NIYPY NNDYA 1YY DIVN 192YN NON

But rather we are concerned for loose gossip that the husband will spread a

rumor that he was ®van the v, this is the meaning of 0 x»w (here), so therefore -
— "5 NINNI MMINA 929 2UN ROV

Now the X723 properly answers that he said, ‘she is to be believed’, etc. -
— Nnbn 799 XOYDT 1YY NOYY NY 2IW 1YY NIANRNY 11991

For since she is believed by him, he will not then be X2 a p% for it is

embarrassing to him -
— 090390 WI9595 0) 99V %W RNYD

So now that we say 0 Xn¥ means that the husband will be 1% R%wa, the R
answers properly even according to >'"'w=% -
1993 YW 1YY AYPNA 19272 9PITNY 1Y NIN 91 891 VIwr9e Tinm onn ynwn 19

' (Perhaps) the wwn of 0™ xaw is only before the wife received the 3, but not after he gave it to her (even if it is
with a °Xin). See previous 1w 1 7"7 'OIN.
' This is regarding the case of @1 > T30 T2 Mayxw, from which there was a question on 0" w1.
% See “Thinking it over’.
16 See footnote # 12. Even in the case of wn 2" v 1821 we are not concerned that he actually returned, but that he
will be 1v% X1 that he returned, in order to cast doubt on the vx. However since he said °2¥ ninxy, it is 7°7 X902
Xn2°1 to deny her statement and be 197 X°¥11 that he returned.
75y in xow 7" 2, 703, states *NOYD MR WA D2 DR JAT IR,
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And it also seems so from >''w=°> there that it is only a 1¥%, for >"?v1 mentions
in the words of the questioner, the husband’s challenge to the v>.

SUMMARY

*"wA explains 09 Xnw to mean that he was 7ny 77°°nn and it is a J@° vi. However,
nMooIN maintains that 05 1w (usually) means w7 2002 Xaw. In the case of T3 XN
w7 2", there '01n admits that 09 X»w merely explains why he returned, but not
VAT 202,

THINKING IT OVER

Mmoo explains regarding the case of a1 '> 715 7a12 MavR, that there is only a wwn
of 1v%, and therefore since he said *>¥ nIRI it is Xn2*» 7% 89°02.'® Seemingly, the
199 which he can be X% is that he was Yvan the va; the minxi that he gave her is
that °nX2 &2; how can the N1 of *NX2 XY cause a kN9 7°% X9°03 for v Pw22!"

18 See footnote # 15.
1 See mon nIx >"Ha.
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